&W—,, ﬂ S k)

. 5\‘@1’(/\/\ tlne veg-nv PlammV vemv f‘?/wf

Z 4,y m\j)/ﬂrr%
a "Am_—ljy

z < Y- ,0) = (10)
ay= 1 oty - F(1,0) =
T ~ FLo,n= Lost)
1 ™~ E(A,0)=(-]0)

VF(1,0)=0
4/ F(Of’”/w")
F (3.0)3%0)
o ,/ | P(O, =(0,uw)
P 4 / F(’g‘l"l)f’ L0

Mo F= (gcosug) )ccosuy))

VXF-— Jm ‘
ﬁﬁc ny
e 5005013) Xospyl |
°V (_7((7((,05!}5) EW 500503)) '
5 (f,mrw = (oosoty) ULy |

. 005 Dxy) - mysm Lw))

| )Dy g}wsuy) |

J;l(jOObbtﬂ)) x| | I T 7&: 5n (,)lj)
= 2ty wty)é( : me|7ui€/ﬂ°r[0\lfwv‘rw
i“"ﬂ"j”@y*% | \/SJF balxy) €

Campus & 9y=p




